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1. Use the following indicative content mark scheme in conjunction with the generic levels of response in the Appendix.

2. Here is the mark scheme for this question paper.

Question

Answer/Indicative content

Mark

Guidance

1*

Assess the reasons why Britain was successful in its
wars against France in the period from 1740 to 1763.

In arguing that the recall of Pitt was the most
important factor,

Answers might consider his strategy of
defeating the French in North America.
Answers might consider the size of the
force that Pitt sent to America and the
command of Amhurst and Wolfe.

In arguing that the financial strength of Britain was the
most important factor,

Answers might consider that Britain was
able to borrow against the likelihood of
gaining further valuable possessions, whilst
the French had a poor credit rating and
problems with short term loans.

Answers might consider the money sent
to America to raise a further 25,000 troops.
Answers might consider the subsidies
that were paid to Frederick the Great of
Prussia to preoccupy the French in Europe.

In arguing that there were other factors:

Answers might consider the relative
naval capabilities of the two sides, the
strength of the British navy which won
victories at Quiberon Bay, which prevented
reinforcements being sent by the French to
Canada.

30

No set answer is expected

At Level 5 there will be judgement as to the relative
importance of the reasons.

At higher levels, answers might establish criteria
against which to judge the relative importance of the
reasons.

To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are
assertions.

Knowledge must not be credited in isolation, it should
only be credited where it is used as the basis for
analysis and evaluation, in line with descriptions in
the levels mark scheme.
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Question

Answer/Indicative content

Mark

Guidance

Answers might consider the importance
of the three-pronged strategy used in
Canada which led to the capture of
Quebec.

Answers might consider the French
resources were stretched as it had to fight
a war on more than one front, both in
Europe, America and India.

Answers might consider the role of the
Native Americans and their change of sides
to support Britain.

2*

How successfully did the Americans deal with the
problems they faced in the period from 1784 to 17877

In arguing that they did not deal successfully with the
problems they faced,

Answers might consider the political
problems and the weak national
government.

Answers might consider the problem of
the states who often put their interest
before unity.

Answers might consider the lack of
respect that the American government had
abroad.

Answers might consider the failure in
relations with Britain and Spain.

Answers might consider the economic
problems that were not solved, with trade
depression and slow economic recovery.
Answers might consider the issue of debt
and the paying of interest on it.

Answers might consider the social
problems with unrest over the failure to
issue paper money and Shay’s rebellion.

30

No set answer is expected

At Level 5 there will be judgement as to the extent of
success.

At higher levels, answers might establish criteria
against which to judge the extent of success.

To be valid judgements, claims must be supported by
relevant and accurate material. If not, they are
assertions.

Knowledge must not be credited in isolation, it should
only be credited where it is used as the basis for
analysis and evaluation, in line with descriptions in
the levels mark scheme.
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Question

Answer/Indicative content

Mark

Guidance

In arguing that they did deal with problems
successfully,

e Answers might consider that Shay’s
rebellion was put down.

e Answers might consider the overcoming
of some economic difficulties with the
dismantling of barriers that prevented inter-
state trade.

e Answers might consider the availability of
new markets in Europe and the Far East
which allowed economic growth.

e Answers might consider the success of
policy in the West with the 1785 Land
Ordinance and the 1787 Northwest
Ordinance.

‘The evidence suggests that commercial issues were
not a major cause of the Revolution.’

Evaluate the strengths and limitations of this
interpretation, making reference to other
interpretations that you have studied.

The historical debate is about the reasons for the outbreak
of the American revolution of 1773 and has resulted in
controversy about the relative importance of a range of
factors.

In analysing the strengths and limitations of the
interpretation, answers might consider that economic
factors have been emphasized as a cause, but that other
factors have also been identified as the major factor.

20

No set answer is expected.

Candidates must use their knowledge and
understanding of the historical context and the wider
historical debate surrounding the issue to analyse and
evaluate the given interpretation.

Candidates must refer to at least one other
interpretation.

The quality of analysis and the evaluation of the
interpretation should be considered when assigning
answers to a Level, not the quantity of other
interpretations included in the answer.

Other interpretations considered as part of evaluation
and analysis of the given interpretation do not need to
be attributed to specific named historians, but they
must be recognisable historical interpretations, rather
than the candidate’s own viewpoint.
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Question

Answer/Indicative content

Mark

Guidance

In analysing and evaluating the strengths of the given
interpretation, answers might use knowledge and
understanding of:

o The lack of trade grievances in the
Declaration of Independence;

o American awareness of the benefits they
gained from the mercantilist system;

e The low level of taxation that was paid by
the Americans;

e The development of political ideology which
argued they could not be taxed without
representation;

e The growing political awareness of ordinary
Americans because of town and country
meetings and committees;

e The role of peer group pressure

In analysing and evaluating the limitations of the given
interpretation, answers might use knowledge and
understanding of:
e The various Trade and Navigation Laws;
e The oppressive customs duties;
e The drain on colonial finances of the British
economic and financial policies.

Other Interpretations that might be used in the
evaluation of the given Interpretation are:
e The issue of westward expansion of the
colonies and relations with native
Americans;
e Insensitive policy making by British
governments after 1763.

Answers may include more on strengths or more on
limitations and there is no requirement for a 50/50
split in the evaluation, however, for Level 5 there
should be well-supported evaluation of both, in line
with Levels descriptors.

Candidates are not required to construct their own
interpretation.
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APPENDIX 1 — this contains the generic mark scheme grids

AO1: Demonstrate, organise and communicate knowledge and understanding to analyse and evaluate the key features related to the
periods studied, making substantiated judgements and exploring concepts, as relevant, of cause, consequence, change, continuity,
similarity, difference and significance.

Generic mark scheme for Section A, Questions 1 and 2: Essay [30]

Level 5 There is a mostly consistent focus on the question. Generally accurate and detailed knowledge and understanding is demonstrated
25-30 through most of the answer and is evaluated and analysed in order to reach substantiated judgements, but these are not consistently
marks well-developed.

There is a well-developed line of reasoning which is clear and logically structured. The information presented is relevant and in the
most part substantiated.

Level 4 The question is generally addressed. Generally accurate and sometimes detailed knowledge and understanding is demonstrated
19-24 through most of the answer with evaluation and some analysis, and this is used appropriately to support the judgements that are
marks made.

There is a line of reasoning presented with some structure. The information presented is in the most-part relevant and supported by
some evidence.

Level 3 The question is partially addressed. There is demonstration of some relevant knowledge and understanding, which is evaluated and
13-18 analysed in parts of the answer, but in places knowledge is imparted rather than being used. The analysis is appropriately linked to
marks the judgements made, though the way in which it supports the judgements may not always be made explicit.
The information has some relevance and is presented with limited structure. The information is supported by limited evidence.
Level 2 The focus is more on the topic than the specific demands of the question. Knowledge and understanding is limited and not well used,
7-12 with only limited evaluation and analysis, which is only sometimes linked appropriately to the judgements made.
marks The information has some relevance, but is communicated in an unstructured way. The information is supported by limited evidence
and the relationship to the evidence may not be clear.
Level 1 The answer relates to the topic but not the specific question. The answer contains only very limited relevant knowledge which is
1-6 evaluated and analysed in a very limited way. Judgements are unsupported and are not linked to analysis.
marks Relevant knowledge is limited, generalised and poorly used; attempts at argument are no more than assertion.
Information presented is basic and may be ambiguous or unstructured. The information is supported by limited evidence.
0 marks No evidence of understanding and no demonstration of any relevant knowledge.
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AO3: Analyse and evaluate, in relation to the historical context, different ways in which aspects of the past have been interpreted.
Generic mark scheme for Section B, Question 3: Interpretation [20]
Level 5 The answer has a very good analysis of the interpretation. It uses detailed and relevant knowledge of the historical context and
17-20 shows thorough understanding of the wider historical debate, in the form of detailed examination of other interpretations, in order to
marks produce a well-supported evaluation of both the strengths and weaknesses of the given interpretation.
Level 4 The answer has a good analysis of the interpretation. It uses relevant knowledge of the historical context and good understanding of
13-16 the wider historical debate, in the form of examination of other interpretations, in order to produce a supported evaluation of both the
marks strengths and weaknesses of the given interpretation.
Level 3 The answer has a partial analysis of the interpretation. It uses some relevant knowledge of the historical context and shows patrtial
9-12 understanding of the wider historical debate, in the form of reference to other interpretations, in order to evaluate the strengths and
marks weaknesses of the given interpretation. The evaluation may be un-even with only limited treatment of either limitations or strengths,
but both will be addressed.
Level 2 The answer has a limited analysis of the interpretation. It uses generalised knowledge of the historical context and shows limited
5-8 understanding of the wider historical debate, in the form of generalised reference to other interpretations, in order to produce a limited
marks evaluation of the given interpretation. The evaluation may deal with either strengths or limitations in a very superficial way, or may
only address limitations or strengths.
Level 1 The answer has a very limited analysis of the interpretation which may be descriptive and relate more to the topic area than the detail
1-4 of the interpretation. It uses very limited and generalised knowledge of the historical context and shows very limited or no
marks understanding of the wider historical debate, with reference to other interpretations being implicit or lacking, in order to produce a
very simplistic, asserted evaluation of the given interpretation.
0 marks No evidence of understanding or reference to the interpretation.
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